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Step voltage input into transmission line
= let Vy(t) = 100 u(t) V
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Frd v(Z,¢,235T )= V(Z/45)
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=2 Uraw. o vertical line wf Arom 2=390m
on Vhe vo/Ffase bownce dinsram
> add op yolfases as Yhe vertical line Crosses
The bonnce a/:'-ajmmj Ao hortgontal fiaes
over o The Foome axic v acle Frmes wherc
vo [T ge /fece/ clianses
Octe2yy VI(303¢)=0
2uctt <y, wvi39t)<T FEV
buse t < us V(200)=75 + 37 = Hz.sv
Jous & € < 1us W300,€) = (2. + (-18.75)T 73725V
Mt £ & < 18us N0,y = 93,75 =9.3%5 = G437V
JSus £ E€ 22 V(300t) T 84375 +4.69%5 = §7.0625(/
22us ¥ ¢ Wus V(300 t) = 89,0618 +2.3Y375 = 7/ 40625\
vi(zeest) ;
A 1125V
Ly 2641V 90334V
it B Ve E e — Vi
£ - ” . A I i * i
Z A /0 Y g 22 Z¢ 3o ‘ﬁZG)



tl_transient_100V_step.doc 6/7

Find 4(224¢) =4 (600m, 4]
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